M lving E ions with

Unknowns on Both Si

Solve these equations. (Q) 86 g
(@) 3x+1=2x+9 (b) x = H
(b) 4x+1=2x+9

(©) 1+4x=x+10 (e) =3
(d) 4x -3 =x+15 (OD =06
() 4x+7=2x—1 (2) S oh
(f) 6x+5 =10+ 4x (F) o(_:-%_-
Solve these equations. (Q) ==
(a) 2x+1=7x+16 e
(b) 3x—2=9x+10 (=) ey é‘
() x—8=4x+7 (¢) oc=

(d) 5x + 14 =8x — 1 (&) OC-=E
(€) 9 +4x =6x—2 (SDice="
(f) x—7=5x—-5 (4:) :x;:“—zl_-
Solve these equations. (a'> o= 1
(@) 6+ 2x=11—3x (o) =10
(D)= 3= 258 (c> oC = "—5
(c) 1 —4x=5+4x (O\)OC= ~ L

d) 11 —x=7—2x :
(e) 6.5—5x = 2.5x — 4 (e,) = |4
() oo 36

() —3x—7=11—8x
(@) Astsr S =i©¢“3

(a) The rectangle shown has opposite

sides of length (2x + 5) cm and
(4x — 3) cm. Find the value of X and Areo_= < X \3 = 52@“2
hence its 2% +5
area. S ‘ﬁ\ (b) 20¢= E_)C)C_.——q
s 4 cm 'Pe_r \mzte (&

(b) Given that the triangle shown is
isosceles, find the value of x and hence its

perimeter.




